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What is KSU’s weather policy? 
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K-State family is important. Our personal family is also important. It is not only me as an individual who make 
sacrifices based on the increase in cost of living, but our family also has to make sacrifices to afford food, rent, 
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eliminating parking privilege charge, etc. 
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No money is always the excuse from management.  Yet we waste money interviewing people for raises.  How 
can the University expect to keep skilled employees when we pay entry level positions more than current 
skilled trades? 
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